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· Inclusion -exclusion formula
PLAUBUC) PLAMBMC)

· randomlydraw withareplacementeent
· independence
conditional probability ↳
->formula/paition P(A)=2 P(A1B:)

P(AIBR) · P(BR)P(BA) ==m). PIBIT =IP(A :). P(B:)
· CDF P(X =a) =F(a)

P(X2a) =lim F(t) =lim F(a- 9)
+-* 250

P(ax X - b) E>0

=P (axX<b) ifXcontinuous E[X] E[g(X)]
·

p. m.f P(X=k) =P(k) zkP(k) g(k)-p(k)

p.d.f. ("f(x) dx jf(xdx Sixfixdxa 17
P(a=X=b) =P(acXcb)

· Var(X) =E[X] -[E[X]>20
-

· Gaussian random variable Z-Neisvariance
f(x) = E 9
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Sudv=ur-Sudy v ==e

#(k) =i) xik.*dx
dV=x e

xY

=Fakt. xe
-x4dx

-= xk-1(-exY)]= a).Ek-D. x2k-?(-e**Ydx
=(8XR-2-*4dx=(K-1). (E[z2k-2]

#[ zik] =(2k -1)!!
=>(K-1). 12k-3). ESZCK-*]
mean

-

variance

0

p(cx X =d) X-N(n,02

=P(cX <d)
eN10,1)=P(c-r-X-xxd-n) A standard
deviation

=P(E < *, *)
- xYdx
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·Approximation-Bingn,p) by empl-ps)
if up-p) > 10

P(X=c)
=P(c- - Xxc+t)

=P(c-<Yxc+i)

S S -p.=Pe -4-p)S
2 -N10,1)

· ApproximationX- Bin (n,p)
by Ye Poisson (MP)

if ups small.


